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CIVICS HSSC-I
SECTION - A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/B/C/D. Each part carries one mark.

(i) What is the minimum qualification of the Nazim?

A SSC B. HSSC C. BSc D. MSc
(i) What is the total number of seats of a Union Council?

A. 19 B. 20 C. 21 D. 23
iii) In the USA, the women were given the right to vote in:

A 1918 AD B. 1920 AD C. 1921 AD D. 1923 AD
(iv) The constitution of U.K is:

A Flexible B. Rigid C. Written D. Detailed
v) How many major kinds of duties of a citizen are there?

A Six B. Five C. Four D. Three
(vi) General Assembly of the U.N.O passed the “Charter of Human Rights” in:

A 1945 AD B. 1946 AD C. 1947 AD D. 1948 AD
(vii) What is the origin of English word “Law"?

A German B. Latin C. French D. Greek
(viiiy  European Law was first enacted in:

A 1955 AD B. 1957 AD C. 1958 AD D. 1959 AD
(ix) Who said, “Law is the command issued by a superior to an inferior”? _

A Laski B. Hoiland C. Hobbes D. John Austin
(x) Greece was a area,

A Plain B. Desert Cc Hilly D. Coastal
(xi) said, man is a social.animal.

A. Hobbes B. Aristotle C. Rousseau D. Plato
(xii) The first human institution was: _

A Tribe B. State C Family D. Saciety
(xiii)  Which religion belives in the unity of mankind? o

A. Hinduism B. Buddhism C Islam D. Christianity
(xiv)  What is the population of an ideal state according to Plato?

A 5040 B. 4050 C. 10000 D. 4000
(xv) is the department that makes Law.

A Executive B. Judiciary C. Legislature D. President
(xvi)  Who s the founder of popular sovereignty? )

A John Austin B. Plato Rousseau D. Laski
(xvii) Dejureisa word. )

A Latin B. Greek c French D. Arabic
(xvii) How many organs of government are there?

A Six B. Five C. Four D. Three
(xix)  The presidential system was first introduced in:

A U.K B. USA C U.S.S.R D. UAE
(xx)  Amendment in the constitution is made by: _

A Judiciary B. President C Legislature D. Executive
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‘ime allowed: 2:35 Hours

CIVICS HSSC-I

Total Marks Sections B and C: 80

NOTE: Answer any ten parts from Section ‘B’ and any two questions from Sectign ‘<’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

(i)
(it)
(i)
(iv)
v)
(vi)

* (vii)
(viil
(ix)
(x)
(xi)
(i)
(xiii)

(xiv)

.¢ SECTION - B (Marks 50)

2.2  Answer any TEN parts. The answer to each part should not exceed 3 to 4 lines.

Enlist three sources of Islamic Law.

How does F.J. Gould define “Civics"?

Enlist any four features of sovereignty.

What does matriarchal mean?

Enlist the elements of state.

Define welfare state.

Enlist any three merits of democratic form of government.
Differentiate between unicameral and bicameral legislature.
What is meant by “Rigid Constitution"?

Name four reasons for losing citizenship.

Define Law.

Enlist three merits of flexible constitution:

What are the two common methods of election?

Define constitution in your own words.

SECTION - C (Marks 30)

Attempt any TWO questions. All questions carry equal marks.

Q.3 Describe various methods to acquire citizenship.

Q.4 Explain the functions of family.

Q.5 Explain the important kinds of Law.

(10x5=50)

(2 x 15 = 30)
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